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1. IIIII :| 2 tane bos
3 tane dolu
Bos kisim = x
Dolu kisim =100 — x
3 % 100-x
3x =200 — 2x
5x =200
X =40
//—L\
2 ¢m(1z+1§)
V3 V7
/7 /3
7.-——=++3 g
%i/fJg J7¢7¢7
7+3=10
3. 32=6
5 6
2+k B 11218
K+2=5 L+4=6
K=3 L=2
4. ABs
_BA& A=6
92 B=

Cevap: C

Cevap: E

Cevap: A

Cevap: C
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374377 37102 (314 4)
9_51_3_103 - 3—102_3—103
2
3102
1
=6
Cevap: D
b +4.c=tek a+b.c=Tek
2 VAN
Tek C TT
il
T TC
) C.(T+T)=_Cift
T.(T+C)=Tek Yanhsg
Il. C.T.T = Gift
T.T.C = Gift Dogru
.G +T—T=Cift
T+T-C=Cift  Dogru
Cevap: D
(Vm—VnP=(2/77
m +n— 24/mn =28
+ m+n+ 24mn =112
14
%-(m+n) = TO
m+n=70
Cevap: B
t+7 t+7 -4
3/5m= "7 3.—)3, }.<n4
15m = 154 4t+28=n-4
32 =n—4t
Cevap: D
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9. + + —+ —+
1234 ..910 11
Rakamlari toplami = 48
Cevap: A
10. Ogretmen  Ogrenci
5x x  — Ogrencilerin agirliklari or-
5.16 = 80 talamasi dgrencilerin agir-
liklari toplami = x
Cevap: C
11. 1. 2. 3.
Yaricap 5r 3r 2r 30'da
2 \2 \’ esitledik
devir 6x 10x 15x
6x + 10x + 15x =31x =124
S
Cevap: B
12. a-b<b a-b<b A<4Ad-Db
a<2b a<z2b —[a<-b
2 2 a<2b-a 0>b
% <b 0>a
b=- -.—>0
a=- olmali
Cevap: E
22

13.

14.

15.

A+4-A—-2 n
2

- N
n
IRl T}
n=11
11 +13+15=39
a+b+c=5k 824
9 4 974
8 @5 825
875
7 6 726
6 7 776
5 8 267
4 9 677
528
578
429
479
- A%+B%=19
A ve B degeri yok
- A?+B%=23
A ve B degeri yok
A%+ B?=53
VAN
7 2

Cevap: C

Cevap: D

Cevap: B
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